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Find the general solution of the second-order differential equation

xzy”+2xy'——6y:0

A= (20 )

Use the Gram-Schmidt process to transform the given basis B for R” into an

orthonormal basis. Use the Euclidean inner product for R” and use the vectors in

the order in which they are given.

B=1{(4,~-3,0),(1,2,0),(0,0,4)}
HAA= (20 4) |
Solve the following differential equations by using the Laplace transform, where
u (t) denotes a unit-step function.

dx, (£)

i = x,{f)

dx
% = —2x,(£) = 3%, () + 1, (©)
%=1, x(0)=0

B1R(#AZ2H)



HAEw (20 %)

Find the Fourier series of the function

fo=x+w i ~gx<g and Fx 4 ) = fx)

RAE (20 2
Let a continuous vector field F(x,y,z)=xi+yj+2zk. Compute V-F, VxF and

V-(VxF).
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